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Just as by a Boigeres when he comes - ;723D 79321 71999 X2 N3 IR
upon her and she matures, it belongs to her

Overview

MR is explaining why by nXw°11 7%y X2 there is no doubt that the 01 belongs to her.
N2 and PRIV are both 2877 MWwAn 1RUXI,! so just as by 71321 779 X2 the 01p belongs
to her, similarly by nXw° 1 7°%v Ra the 03P belongs to her, for m732 and X1 are
similar in that they are 28 mwan PRXA.

= 31399 P399 AR MY IREPY NN 18N RNT 2W199
The explanation why 13¥% 703p by 77321 %Y K2, is since we find regarding a naxa

that she leaves the ny21 of the father regarding monetary issues, therefore it is logical
to assume that the 01p which is a monetary issue should belong to her —

n1voIN asks:
= 45195929 99915 7298 INANI 1NN PPIYT AN MYIN PRI PRIV M) 9907 YD)

And there is a difficulty, for 1PX%1 as well are 3127 1789 a8 nw=R PROX, so why
do we need to derive from N9 312 that the 01p belongs to her.

MOD0IN answers:
— 619931 YaND 51N 1Y XPOY NNNYY N992) NYYY NAT NN

And it appears to 01N that we derive the rule of 77321 %y X2 that the o01p
belongs to her, from the 7105 of 779177 928 3011 (and he should give it to the father

of the ;17y1) -
1193 SANY KDY 7199391 YaRY 199U TT

"' The 77 awvn of a daughter do not belong to the father after she becomes a N33, or after she becomes a XW2.
2 npoin is explaining why indeed by 77321 "% X2 the rule is 7nxY? 703Ip.
3 See footnote # 1. Therefore just as by n7a12 (who is 1% 17392 a8 MW n 7RX1) she receives the 01p, similarly by a AW
(since she too is 111 112 7°2K MW IXYY), her 01p belongs to her as well.
4 According to our understanding now that the reason why by N1 the rule is 123¥V% 701p, because she is MW ARYY
aR, the same reason applies to IR, since she too is 2R MM RYY, so obviously the 01p belongs to her. Why are we
deriving PRW°1 from N33, when they can each stand alone?!
3 The 770 writes (in ¥3,25 [X¥N] 2°727 regarding one who was DIR a 79102 77¥1 that 77 2aRY 7Y 20WA WK 1.
6 It appears that 90N is retracting what he previously said (see footnote # 3), and now maintains that the fact that a
NN (or a ARWI) is 1 PPIWY AR Mwn AR¥Y is not sufficient reason to assume that the 01p belongs to her. Rather it is
derived from a ?105 which teaches that the father does not receive the 01p for his n7312 daughter. Now that we know
that by a mnx¥? 703p nIM3, we can derive AXW1 from NM2 since both are ARk MW N PRXIN.
7 A w1 definitely excludes a n7a12 (but it does not necessarily exclude a 7Xw1 (who can also be a 77w1).
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Fow we expound it to mean that the 037 is given 5799377 “aR®, but not n9312 “2K>.

Summary
We derive that by a 72%¥% 701 N2 from the P09 of 77¥17 *aRY 101, but not °ax»

nAaan.

Thinking it over
How can we derive from 7917 °2K% 031 that 72%Y% 701p 77321 %% X2, perhaps the
I of NIA2T aRY KDY 7w "aRY is when if the 7°%v X2 was after she became a n7a12,

but not if 7°%¥ X2 when she was a 77¥1 and later she became a n7312?!
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